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University of Kerala '
First Semester Degree Examination, November 2024
Four Year Under Graduate Programme
Discipline Specific Core Course
Statistics
UKIDSCSTA109 Descriptive Statistics And Probability
_ Academic Level: 100-199
Time:1% Hours Max.Marks:42
Part A.
Answer All Questions, Objective Type. 1 Mark Each.
6 Marks. Time: 6 Minutes
. Course
n.
30 Question C(;?:J;;ve Outcome
(CO)
The average of the absolute differences of observations
I from a constant is called Remember €O2
> ian> ' i
2. Il mean >Median>Mode, then the skewness is Understand Co 3
3 Say TRUE or FALSE: Mutually exclusive events are Understand Co 4
__|always independent ]
I{ S is the sample space, P the probability measure and B,
4. |the sigma field of events, (S,P,B) is called Understand CO6
5. |A random variable taking uncountable values is called Understand CO5
6. |If X and Y are two independent variables, E (XY) is Remember CO 10
Part B.
Answer All Questions Short Answer. 2 Marks Fach.
8 Marks. Time: 24 Minutes
Cognitive Course
Qn. Question ]l":vc;v Outcome
No. ) (CO)
7. |What are different sources of primary data Understand|  CO 1
The mean and median of a frequency dis""h”“;)" ‘";'_23‘2
: - roximate value of its
and 25.5 respectively. Find the approxima ”
8 ;?c;diJCalcu[l)ate Pearson’s coefficient of skewness if the Apply CO3
standard deviation is 4.5
If a person draws a card from a pack of,“r’z) cards, what is the Apply CO5
9. probability that card is either ace or a King - ——
" |if X is a discrete random variable Fha[ lakcs;?;% y 2, Apply Co 10
10. |, n with equal probabilities 1/n, find mean -




Part C.

Answer all 4 Questions, choosing among options (A or B)within each question.

Long Answer. 7 marks each. 28 Marks. Time: 60 Minutes

Qn.
No.

Question

Cognitive
Level

Course
Qutcome
(CO)

A. Calculate the quartile deviation for the following data of annual
income of families in thousands of rupees.

Income : <499 500-999 1000-1999 2000-2999 >3000
No.of families: § 25 40 20 10

Evaluate

CO3

11.

B. Calculate Pearson’s coefficient of skewness for the following
distribution.

Variable -10 25-30 | 30-35

0-5
3

vl

10-15 [ 15-20
15

Frequency 9

10 7

Evaluate

CO3

A bag contains 3 red and 6 white and 7 blue balls. What is
the probability that two balls drawn are white and blue.
There is a group of 40 people of whom 20 are engineers
under 30 years of age and 10 are engineers over 30.0f the
remaining 10 non engineers 4 are under 30.1f a person is
selected at random from the group, what is the probability
that the person is an engincer or a person over 307?.

Apply

B. Aletter of the english alphabet is chosen at random. calculate
the probability that the letter so chosen is a) vowel b)precedes
m and is a vowel c)follows m and is a vowel

Apply

CO5

A. A. For arandom experiment, the sample space $= {1,2,3,4,5,6},
A={1,2,3), and B={3,4,5,6}. Write down the events

(@) A" (1) B (©)AUB(d)ANB(e) (N[A" Al

Evaluate

CO 4,5

B. From a city population , the probability of selecting (i). a male or
a smoker is 7/10, (ii). a male smoker is 2/5 and a male if a
smoker is already selected is 2/3. Find the probability of selecting
(a) a non-smoker
(L). a male

(). a smoker if a male is first selected

Evaluate

CO 4,5

14.

1) State Bayes theorem.

i) The probabilities of X,Y and Z becoming managers are
4/9,2/9 and 1/3 respectively. The probabilities that the
bonus scheme will be intoduced if X,Y and [ hecomes
managers are 3/10,1/2 and 4/5 roslwcli\'(-ly."l_h(‘ Bonus
scheme was introduced. What is the probability that X was
the emanager?

Apply

CO 7,8,
9

B. What are the properties of the pdf, f(x) of a random

variable X? -
The probability density function of a mn(lnm \.nmhl_e Xis
[ix'=ac ", x>0.Find the moment generating function of

i)

Apply

CO 7,8,
9

' i 0 raw wents?
X and hence the fust two raw mon
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